C:h Adding & Subtracting Negative Numbers Name:

Solve each problem. Answers
1) 935-(-156) = .
2 (-42)-89= N
3 1-(-6)= .
Y (Y+(H=__ ,
5) (-47) +(-85) = .
6) 20+ (-16) = .
7) (-863) - (-853) = ,
8) 263+ (-692) = N
9 (-510)-126= o

10 (7)+(g=__ o0

11) (-61)-(-16) = "

2 (- (D=___ -

13 (-(1)+6= 1

14) (-39)+76= "

15 2-(-8) = -

16) (-476) + 830 = .

17) 81-(-69) = 7

18) 8+ (-5) = 8

19 7-(-4)= 10,

20) (-2)-6= 20,
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Adding & Subtracting Negative Numbers Name. Answer Key
Solve each problem. Answers
) 935-(-156) =_ 1,091 . 1,001
2 (-42-89=_-131 » 131
) 1-(6)=_7 3 7
Y (Y+(H=_-8 4 -8
O (-47)+(-85)=_-132 5, -132
6) 20+ (-16)= 4 6. 4
7 (-863)-(-853)=_-10 . -10
8) 263+ (-692) = -429 N -429
9 (-510)-126= -636 o  -636
10 (7)+(8)= 15 0__ -15
1) (-61)-(-16)= 45 n_ 45
) (n-(-9=_-5 12 -9
13 ()+6=_5 13, o
14) (-39)+76= 37 " 37
15) 2-(-8)=__10 15. 10
16) (-476)+830=_ 354 16 34
17) 81-(-69)= 150 17, 150
18 8+(5)=_3 s 3
19 7-(-4=_11 19, 11
20) (-2)-6=__-8 20, -8
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C:h Adding & Subtracting Negative Numbers Name:

Solve each problem. Answers
1) 935-(-156) =
1.
2) (-42)-89= 2
3
3) 1-(-6)=
4,
9 (-3)+(-5) = .
5 (-47) + (-85) = 6.
7.
6) 20+ (-16) =
8.
7) (-863) - (-853) = 9
8) 263+ (-692) = 10.
11.
9 (-510) - 126 =
12.
0 _ _ —_
1)(7)+(8)_ 13.
1) (-61) - (-16) = 14.
15.
12) (7)- (- =
) ((1)+6=
14) (-39)+76=
15 2-(-8)=

M odified 1-10 | 9387|8073 |67]|60]53]47[40]33]
[ Math ] www.CommonCoreSheets.com 10 11-15|27]|20|13| 7 | O




	Worksheet
	Answer Key
	Modified Worksheet

